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Note:- 1) AII questions are compulsory.
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lind 24 i- 38 +1.

VtrARKS 75

(co1.2,A) 7Nr

(CO 1"A ) E\l
(ClO2 .R,[r ) 7\i

2) Figures to the right indicate maximum rnarks

Ql ) (A) Select the right irnslver fiom the lbllowing Multiple choice questions. (Any 8) tJ\j
l) ('ALCULl\TF.25% OF 20% OF 10000.

A) s000 B) s00 c) 50 D) s (cto I ,R)
J ) (]ALCULAI-E 4% OF NTJMBEI1 600.

A) 24 B) 48 C) 96 D) llzl (CO2,R )
])I)IVIDE THE NUMBI]R 50I6INTO TWO PARI-S SUCII THAT ]-I_IE RATIO IS 5:6.

A)2280,2736 B) 2000,3016 C) 3000,2016 D) 1000,4016 (co2,t1)
.+)(.ONVERT TI.IE FOLLOWING IN TI{E SMAI-T,EST IIATIO
]KC AND 5OO GMS,5KC AND 5OO GMS

A) 5:6 B) 5:l I C) 5:7 D) 6:e (CO3, R)
-i )5x i t0Y -- 50, IF Y:0. TI-IEN X :

AI5 R) IU C)15 I)) lo((Ot.R)
i,) ntcaus total inconte of natictn / total popLrlatron.

A) PCIb) CDP c) NI ct) HDt (CO t. 2, R)
7) llcta of a sharc is

(a) Expectecl retrtrn (b) Slope of the regression line (c) X inrercept (d) y intercept (COl. li)
.\ ) A conrbination o1'a groul-r ol'securities is callcd

(a) Bunch (b) Portfirlio (c) SLr, (cl) Scheme (col, R)
9) l1'thc angles o1'a trianglc are in the ratio 3:8:9, then thcir lcspectivc clcgrce rreasures are

kr) 270,J2').910 (b) 320,700,7g0 (e) 240,64t).92" 1cl) 60,"rri),"600 (co2, R)
l0) A set o1'sin-rultaneous cquations can be solved using. (Co3, I{)

(a) C)rarner's Rule (b) Crornton's Rule (c) Ciraharn's Rr-rle (d) Newton's lali,

Ql)(B) State whether the tbllowing statemcnts are'I)'ue or False. (Any 7) 7NI
i) Invcstnrent alwiiys carlics risl<. (ClO1,R.)
l) Salc : Cost + Prolit(COl,R)
i ) I{atio is a ligurc denotcci by another iigure. (CO2,R)
-l) 2 x 3 is a square matrix. (CO2,R)
-i) t 0 0 I isidcntityr.r.rarriccs.(CO3,U)
6) (2.3) lies in frrst quadrant. (CO2,U)
7)\\rhcn all clements o1'a rtratrix is zero, it is called null mutrix.(CO2.l{)
S )['ro1lt : Cost * Discount(C]O l,U)
())Shares doesn't have zrny risk involved. (CO3,U)
10)Clrarner's rule is r.rscd lbl testing of-l-r1,pothesis.(CO3.it)
f)l) (A)MaximizcZ: l5r -+- l0y, subject to 8x + 5y.60.4x +,5y < 40, x & y > 0.(CO1,A) SNl
t)l)(U)MinimizcZ: l2x r 2}y,subtox+ y>7,-5x 1-2), t,20,x>0.y-,0(CO],A) 7Nl

OR
(ll) ((l)Find A x il. if A : (co l,2.A.ri )8i\lB:I
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t.).1) (A)Solve the Ibllowing equations sir-nultaneously using Clramer's rule
xr2y+z:6, 2x -2y *z- 1, -x +2y - 2z=5

(ll)(Il)ExpandA: x y z
yzx
zxy



ot{
{.).i t (C.)N4onthly incomc of A and B are in the ratio 7:4 ancl their expenditLrres are in the ratio 9:5. Each of tlrc:nr

:rrrcs lls. 10000. Irincl thcrr incomes. (CO3,A) Swt
t.tlt(Dt\'11{.X,Mr,\',anclMr.Zarepartnerslvithratio -5:i:2intheflrstsixrlonthscor-npanygetsprofitol'l{s.
100(X)0 arrd in ncxt sir nrorrths conrpany gets prollt o1'lts. 200000. Finrl thc profit of each partncr in erttile -rr:rr.
r( Ol ..\ ) 7M
(-).,1)(r\)'l.hc L'ollowing tablc gives the probability clistribulion oIthe rctun] of two shares X and Y. Fincl thc
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ex cctcti vzrlue anci the total nsk fbr both shares cott'tntent. 8N1

tl.i) tll)if,tr. Guciclr-r purch:ise some shares of a con-rpnny 1'or Rs. 625 each zrnd sold therri 6 months later at [{s.

,r-i-5 g,,.1-t. In thc rneanwhilc, he received a clividcnd of I{s. 40 pcr share. I'-inci his return for the 3 tronths holrlins
1re riorl and thc annualisecl return. (CO2,A.[) 7M

OR
(-)4) ((')ll A -- 5 -1 4 Find ,A2. ((lO3,A) 8l\'l

--548
65-4

{l.i)(D)}rinci tlircc positivc numbers in the ratio 3:5:2 such that the sum of their squares is equals to2432.
,1 1)-r.A) 7M
(.).5 ) Write Slrort Notcs (Any 3) l,5M
I ) [.conomic Ir-rdicators (COI,LI)
.l ; 

-f r'pcs ol'rlatriccs (ClO3,I{)
11 Wlial rs ratio ancl typcs (CO2,U)
I t Nrrll hl,pothcses (CO I.R.)
i t ( raircr's rLrle (CiO2,3,ll,U )
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